TS -
2017 EHLEM T F A RENFEE R KE

FIEAE: 678 . EE A
" LWMER—BEELEB LK
FEHAK: BEMMNERFAY

E, BESER EHATME
ERARE: 20164E 12 H25 H k4 BEEEES, RyPM.

(AR N NN NN NENN]

— BES (L1504
1. (B/MEE 15 4, 360 4y) HHE TFHI&RE:
(1) AR lim[ 1n(l+%)—x].
) B%ﬁ F(x)& f(x)B—NERE, K jf"(x)dx. Hrp f“(xj;%f(x) IR R &
@) #IE [[sinx® + y2dedy . $ D ={(x,p)|n? <27 4y < 4n?}.
5

4) i‘FﬁI: .[(xz—y)dx+(y2 -x)dy, H L RIEIEEE T Uﬁfxﬁjﬂ‘:i“f&n a ¥R E¥E
A '

2.(154) Rl xy =4, xy=8, x’=5Hx’ =15HERNE— LR QAKX D W&
. |

3.(154) REKY 2’;1 faAn.

4.2041) 251 f(x,y)=(x—6)(y+8), K f(x,y) A P(x,y) IR KT RISH g(x,y), FF
Kegl, ) ED={(x,y)|x* +y* <25} LR K. B/ME.

5.(20 ) BEH f(x) = -’5-;—" (0 < x < 7) HBRTFRIELFEHARZIEL
6. (20 M ERH y = f(x)E[0, 11 LTS, BifEHMH:

(@) +x2(f'(x)’ =2f(x)=0 & £(0)= f(1)=0.
EW: B¥y = f(x) [0, 1| HEAZ.
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1. (15 4y) RiTFHR e,
; a b x+ec d
b c x+d

2.(15 %) B513 TEFREHHEA 4x = b WHEIMERNa=(1,0,2)", f=(01,-1,3)", BR¥UE
BE 4 1%k R(4) =2, R ATEERER.

3.(154) ®a, e, a, £3EFER, 2EHEA=(a,, a,, 0, ) B=(a;, a0 ), C=24-B,
B A MAFFIR | A|=1, R CHIFHR|C|.

4.(15%) WHEa =(1,-2,4)", a,=(0,1,2)", a,=(-2,3,c)", Alfl:

(1) cHE{ER, ©,0,,0; 2Pk K7
(2) cHU{ERF, 0,0 20T

5. (15 43)YRIERE A T3, (ERAILAEBEAERE 4' A, B (A7) =(47")".

6.(15 ) a, =(1,1,0,0)", a, =(1,0,1,1)" FremtmBEEmictE L, b =(2,-1,3,3)",
b, =(0,1,-1, - 1)" FRAERMMBERINEL,, WEL =L,

127403
7.204) ®A=|0 -3 4], KRA®
' W T

8.(20 43) WMWK f(x,,%,y,%;) = X} + X} + X} +2ax,x, +2x,x; + 2bx, x, it ERXAEH#
) 34
x, [=Ply,| A f=y;+2y2, Ra, b.
X3 V3 ;

9.20 %) ®a=(a,a,-,a,), a#0, A=aa’.

(1) IEAA=0R 48 n—1 EfFELE;
(2) 3R A BEFHRAEAR S A N TR AEE i — MSE R .
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